St Hilda's Primary School

£

Primary 3 Term 2 Welghted Assessment 1 2024
Mathematics " :

BP~113

BookletA: |

, 14 :

Class: P3f____ .
Date: 7 May 2024

Duration:  55'miin

. Number of printed pages: 12 {11 prini

Bookiet A&

Total:

28
40

Parent’s Signature

. Cuusslions 1 1o 6 cairy 1 mark.sach. Questions 710 10 carry 2 marks eagty, For each question,
-+ four options are given. One of them is the correct answer. Make your chisies (1, 2, 3 or 4) and
. o (14 marks)

Jwiite'your answer in the brackets provided.

1. How many-hundreds are there in 83007

(1} 830
(2) 30@
@, 3
) 83

2. In 3578, the value of the digit 7 is

1)y 7
2y 70
3y 700
(4 vo00




3'

4

7.

Ity which of the following are-the nurabiers arranged from the smallest

to'the greafest?

1)
2)

@
@

4876
4786

4788

4786
4867
4867
ABT6 .

4867

A766

4876
4867

Which of the following shows:4 %37

o

Ko maRy Aumbers bietwaen 10 and 50-ean be divided exactly by 82

()
?)
{3)
“

Alf bought 38 cherries and Jane bought 18 cherries.
How many cherdes were fefi?

n
&
@
)

4+ 4 +4+4
B34343+3
AXPI%I=F

4x4%4

P LY PO €N

$1,30
$2.90
$3.80
$4.90.

2%
40
57
7

. Whatis the valus:of 9 ten-cent coins-and 4 fifty-oent coifis?
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8.  Atotal of 5842 visitors visited'a miiseun in.Juns.
There were 1326 mote visitors iti June than in May.
How many-visifors wers thers.in May?

(1) 4516

(21 4524 EA o - -

(3) ‘e1g8.

(4) 7188 ¢

9. Sumelhas 83 curry puffs.
She neads to packthem In boxes of 7. _
How migry boxes:does she nieed fo pack alt the curry puffs?

¢y &
@ 9
@ 10 | L
@ 11 ¢ )

10.. Gabrdel has sevefi coing ds showh. below.
He-used alf sevein coins below fo. pay for a drink.
He got back 10¢:¢ change:
What was the cost of the:drink?”

(1 $240
(2} $2:50
(3) $z60
(4) &2.70 ( ¥

_END OF BOOKLETA
Préceed fo BOOKLET B




BookietB

Goashions 71 15 20 carry 1 maik each, Questions 21 to 23 calry 2 marks each, Writs your |

" answaers in'the spaces provided. For questions which reqguilre unifs, give your answers in the

T B (46 merke)

11. Complete the number pattern.

6819.,6919, _______,7118,7218,7319

12, \lse alithe digits belovt to Torm the smallest 4-digitodd number,

Ans

13,  Wrife. thousands, & tens and 8 ofies in numerais;
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14,  Sibtract 1697 from 5204,

_Ans:

15.  Susan bought 7 boxes:of donuts for & party.
Thete wers 8 donuls ineach hox;
How manyﬂonuts did Susan buy altogether?

Ans:

16, Jasonread 72 pages of his storybook i1 9 days:

Every cfay, he read the sarrie number of pages

_Ans:

BP-117




The value of ¥ i¢.

JAnst

8.

Janahas 30 stickers. |
Shis hias & imes as many-stickers 85 Allce.
How many stickers:does Aliee have?

19,

MrQng bought - lege setfor f$26i;§5--ah‘§i;a.;baafci game for $37.95.

How: thuch did he pay-for tehwa ftems?
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20.  Janebought4 boxes of erasers
There were 10 erasers i 33

She repacked alfthe erasers equally irto 8 bags
How: tany srasers were there in each bag?

_Ans:

21.  The difference befieeri two-numbers fs 345.
The small‘er nuf‘nber is 87&

......

Ans:

A bag of 3 oranges costé $7. How many oranges can be bour'gh'tj with $56%
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23, Lookatthe items below earefully..

JAGY'S KITCHEN SUPPLIES o \ |

* coaking pot
| WX

“ygingpan | [ chopping board
- $oBAD | $58.70

-

Miss Wong boughttwo of the items above.
She paid with two. $50-notes.and received a change of $6.
Which two lfems:did Miss Wong buy?




For questrons ‘24 to 26 show your worlqng cleady ard write your equatfens and word

" statements iit the space pravided: The! number of maiks for each gquestion is shown In the

brackets. : . _ _ {lomerks)

24, There wers BO00 books in & ‘community library:
5688 books were fiction books whille the rest weie Hon<fiction books.

(a} How many non-fictish books were there?

Anst fa)  [1]

(b) How many morg fiction books than non-fiction books were
there?

Ans: _(B) (2]
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25, MrsGontez baked some cupoakes.
She kept 26. cupcakes for her family and gave the rest egually to & nelghbours.
Each néighbour received 8 cupcakes. , , : ,
. Hawmany cupcakes did Mrs Gomez bake?

Aﬁg: i o e i S et 131 =

10



26:  Last Saturday, Mrs Weng went to the zoo with her two- children.
Mrs Wang bougtif an adult and two children fickets,
An adult ticket cost $48. It cost $15 more: than achild ticket:

(@) How much did a child ticket cost?

Anst (&) . - 14

{b) Hovrmuch did Mrs Wang pay for all e three fickets?

Ans; (B} - B

END OF PAPER

11
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SCHOOL : ST.HILDA’S PRIMARY SCHOOL

LEVEL :  PRIMARY 3
SUBJECT : MATH
TERM : 2024 WA1
Q1 | G2 [ Q3 [ @4 | @5 | @8 | Q7 | @8 | @@ | Q10
4 2 3 2 1 2 2 1 2 2
Q11 | 7019
Q12 | 2385
Qi3 | 9068
Q14 | 6294 — 1697 = 4597
Q15 17x6=42
Q16 172:0=8
Q17 l48:8=6
Q18 130+6=5
Q19 |37.95 + 26.35 = $64.30
Q20 l4x10=40 |
T la0:8=5
Q21 (876 + 345 =1221
1221 + 876 = 2097
Q22 |56:7=8
8x3=24
Q23 |100-6 =94
65.60 + 28.40 = 94.00
Ans : blender and frying pan

Q24

a)8000 - 5686 = 2314
There were 2314 non-fiction books.
b)5686 - 2314 = 3372

| There were 3372 more fiction books than non-fiction books.

Pgl
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a2

9x6 =54
54 + 26 = 80
Mrs Gomez baked 80 cupcakes.

Qz6

a)48 - 15 = 33

A child ticket cost $33.
b)33 + 33 = 66
66+43=114 -
Mrs Wang paid $114 for the three ticket.

Pg2_
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